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" the above represented plasmid an alien piece
. ifDNA is inserted at EcoRl site. Which of the
following strategies will be chosen to select the

recombmant colomes"
White color colonies will be selected.

(2) Blue color colonies grown on ampicillin
«¢ plates can be selected.

tz"(?3) Using ampicillin & tetracyclin containing
7 medium plate. ‘

Zﬁ) Blue color colonies will be selected.

=g
i'he protein pdrtion of an enzyme is called :

@ Apoenzyme

(2) Prosthetic group
(3) Cofactor

é;’l) Coenzyme

¢Given below are two statements :

{Statement I : The primary source of energy
[fﬁ} an ecosystem is solar energy.

;?tafement 11 : The rate of production of
.ofganic matter during photosynthesis in an
rgfosystem is called net primary productivity
(NPP). :

In the light of the above statements, choose the
most appropriate answer from the options

iven below :
@ Statement I is correct but statement Il

is incorrect

3%) Statement I is incorrect but statement II
“is correct

LQ) Both statement I and statement 11

¢{ are correct

¥(4) Both statement I and statement 11
are incorrect

[ Contd...
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Given below are two statements : One is

labelled as Assertion (A) and the other is

labelled Eﬁ,Reason (R).

Assfrtitffi? (A) : A typical unfertilised,
anglosp?rfn embryo sac at maturity is
8 nucleaté hnd 7-celled.

Reason (I}) : The cgg apparatus has 2 polar
nuclei. 4

In the light'bf the above statements, choose the
correct answer from the options given below :

@, A is true but R is falsc
2 A is’?’élse but R is true
A3) Botlg{é and R are true and R is the correct
expl_grgation of A
4 BothiA
corrg‘}:}t explanation of A
e

Neoplastf?:"’characteristics of cells refer to :

A. A mass of proliferating cell

B. Rapid growth of cells

C. | Invagts“;!ié)n'énd damage to the surrounding
tissuc;

D; Tho§eéconﬁned to original location

Choose the correct answer from the options
given bel‘g@:
(1) A, B.J only
2) B, G;D only
(3) A, Bonlyr,
A, B, C only
iondd

=

Which oné‘"pf the following is the characteristic
feature of gymnosperms?
173
€)) Seed{\%gre absent.
(2) Gym_;jQSperms have flowers for
reproduction.
3) Seedé’-’are enclosed in fruits.

Seeds are naked.

18_English ]

Botﬂa and R are true but R is NOT the.

18

97

Match List - I with List - I,

List -1 List -
A pﬁi};cstcronc I. Pars interm "
B. ‘:’Pxin Il. Ovary
C. Mefanocyte I1L.: Adrena)
sifulating hormone -« | Medull,
D. C':ﬂ:cholamines IV. Corpus luteyn
Choqsq the correct answer from the OPtion
given.helow
(1) A-ll, B-IV, C-I, D-II
@ AL, B-ll, C-1V, Dl
Aalv, B-11, C-1, D-IlI
@) AV, B-I, C-l1l, D-I
(")
98 Whi (}?‘, hromosome in the human genome hyg
7 the mgﬁcst number of genes?
@ Q:Iromosome 1
(2) Chromosome 10 i
(3) Eﬁromosome X I
(4) Chromosome Y
99  Whiéh! of the following statements aboul
.RuBi$CO Js true?
(1) 1t{s an enzyme involved in the photolyss
water.
@ Itjcatalyzes the carboxylation of RuBP.
(3) 1tTs active only in the dark.
4) 1t'has higher affinity for oxygen th
tarbon dioxide. ‘
100 The first menstruation is called :
(M Bi:apause (2) Ovulation
3) enopause Menarche
N -
101 WhicH'bf the following genetically engince”

/
organims was used by Eli Lilly to P e

humaffinsulin?
(1) Virus

Bacterium

(2) Phage
(4) Yeast
[ ot

¢

4
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& l(:;)‘éel;::dbzlsovz:s:::etfwo Statements ; ope s | 105 Match List I with 4List 1L
rtion ’\(ﬁ) and the other is ; % '
labelled as Reason (R), © List I ';3’ List IT

) Q‘f“)l'

Assertion (A) : All verteprates are chordates Adenosine Nitrogen base
but all chordates are natsyertebrate, Adenylic acid ¢I.  Nucleotide

Sowpy

Reason (R)": The meibers of subphylum Adenine - WA Nucleoside
eyt sy s oochord during the Alanine By, Amino acid
: carri’ila > period, the no faChQrd Is replaced by Choose the option w‘@ all correct matches.
gINOUs or bony-Vertebra] column in :
ey sl A-I11, B-II, C-,D-IV
In the light of the above staterﬁéhts, choose the @F 2T, BIL SRR
correct answer from the options given below - (3) A-III, B-1V, C-11, D-I,
(1) Aistrue but R is Ise © () AL B, C-IYyD-1
(2) A is false but R isifrue B
Both A and R are tgte and R is the correct | 106 In frog, the Renal pbiial systemris a special
explanation of A - venous connection that acts to link :
~(4) Both A angi R areif‘ﬁne but R is not the (1) Kidney and'inteséane
correct ?iq!)!anatiorz‘?%f A ' @ Kidney and lovsi?‘n; part of bddy
103 What is the main functi?ﬂof the sginéile fiberg | S; E“,’:: ::g :::et;f

during mitosis ? ~
(1) To repair damaged DNAK -
2) To regulate cell growthy

To separate the chignosoines

107 Which of the following are the post-
transcriptional events in an eukaryotic cell?

. it
A« Transport of pre:mRNA to cytoplasm

(4) To synthesize new: INA - oF PISs
| ; prior to spllcln%, " .
104 Match List I With Listglvé: __ B. Rem'o.val of mtrggs and joining of exons.
- List-I m List-II C. Addition of.mét_[‘;yl group at 5° end of
A. Alfred Hershey 4§ Streptococcus hnRN-A. i .
and Martha in pneumoniae D. Addition of adeffife residues at 3’ end of
; il . hnRNA. . i
Chase o ) . A
B. Euchromatin il Densely packed - Base pairing of°two complementary
g : and dark-stained |. RNAs. '
& Frederick Il Loosely packed Choose the correct answer from the options
- - K ' iven below : A :
Griffith « - & and light-stained (g]‘;e“B °C°Vg o
D. Heterochromatin &Y. DNA as genetic 3 Sehiy Oy i
N material (2) C,D,Eonly %}

€Y confirmation (3) A,B,Conly £

s - o ¢ m
Choose the correct ansg{;’er from the options . B,C, D only e
iven below : e M iy
) A-IV, B-III, C-I, D;-iﬁ 108 Polymerase chain rga¢tion (PCR) amplifies
2) A-III, B-II, C-1V, D:‘ DNA following the equation.
(3) A-II, B-IV, C-I, D-1I 1 (1) 2n+1 (2) 2N2
(4) A-1V, B-II, C-I, D-III (3) N2 on
48_English | . 13 [ Contd...
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¢ phi of a bio-reactor which is useq

: . . tify th
109 Given below are two statements : One is | 112 Identify brar from the given figure.

labelled as Assertion (A) and the other is | as a foam
labelled as Reagon (R).

Assertion (A)): Both wind and water
pollinated flowgrs are not very colourful and
do not producefectar. L
Reason (R) : THE flowers produce enormous
amount of poﬁgﬁ grains in wind and water
pollinated ﬂo“&&.' :

In the light of the above statements, choose the
correct answer from the options given below:

. (1) A s true but R is false

L

@) Ais false bjit R is true (1) D ?’) e
(3) Both A andR are true and R is the correct 3) A N 4 B
explanatioff bf A - i
. Both A anfi*R are true but R is NOT the <

113 Frogs respirir‘n water by skin and buccal

. correct ex i i i
_ {gnatlon of A cavity and on ?%"d by skin, buccal cavity and

1) lungs
110 Epiphytes that arg growing on a mango branch LA g
is an example ¢ffwhich of the following? Choos-e thwerrect ansver i) e
, ' following : 1
(1) Predation _ o
Y AmonSTism i @ The statement is false for water but true
. for land ¥ '
Commensalism ! : -
@) Mutualismd® : ' (2) The sta%?inent is false for both the
: : ‘ environne.e‘}\t
111 Find the correc(:) ] : (3) The statedent is true for water but false
: s . - for land &'
A. 'In humanifiregnancy, the major organ .
systems Ffe formed at the end of 4 The. statement is true for both the
12 weeks. 1) ‘ environment

B. In human:_aregnancy the major organ ;
systems are formed at the end of 8 weeks. | 114 Consider the following statements regarding

C. Inhuman pregnancy heart is formed after function of' ‘--f“j__"?.“{,l, _medullary hormones :
one month of gestation.‘ \ A It causesséppilary constriction
D. In human;;;egnagq; Ilmbs(,i and g:glts B. Itis a'hyp‘erglycemm horfoné:
develop by*the end of second month. C. It Causes(\‘loerection
E. In-human pregnancy the appearance of D. Iti .
hair is usug‘ﬁ.y observed in the fifth month. + It increases strength Qf heart contraction -
Choose the correct answer from the options ' .C.hoose the chifrect answer from the options
T - given below #~{
given below : i) ‘ J‘J
1) B, C, D ard!'E Only (1) A, CandD Only
A, C, D afd E Only (2) D Onlyx
(3) A and E Only (3)'Cand D Only
(4) Band COnlyy ‘ B, C and D Only
48 English ] v 20 | ; [ Contd...
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115 Read the following statements
and development.

A.

-

n plant growth

Parthenocarpy can be induced by auxins.

T pe e o bl
growth, - il T

C. Ded.iﬂ‘erentiatioh(“is a pfé-requisite for

~ re-differentiation#

D. Abscisic acid is e%:‘?lantgrdwth promoter.

E. .

lateral buds.

Choose the option with all correet state;nents.
(1) A,D,E only
(2) B, D, E only
@ A, B, C only
) A, C,E only

15452344

116 Which of the following hormones released
from the pituitary is actually synthesized in the
hypothalamus ? - '

(1) " Follicle-stimulating hormone (FSH) -
) Adenocorticotro;ﬁ'ﬁc hormone (ACTH)
(3) Luteinizing honrg;ége (LH)
Anti-diuretic hormbne (ADH)

i

<

117 Which of the follpwidé’}is an example of non-
distilled alcoholic bevétdge produced by yeast?

@ Beer 2) Rum
(3) Whisky . (4) Brandy
w . -
118 What is the pattern of fiilieritance for polygenic
trait? £ ‘

(1) Autosomal domigafnt pat-tem
(2) X-linked recessiveftinheritance pattern

(3) Mendelian i'nherf‘ébce pattern
Non-mendelian igl;eritance pattern

48 English |

Apical dominance-promotes the growih of

21

™~

119 Match List - I with List - II.

List - I List - II
A. Head . T EnZymes
- B. Middle piece m Sperm motility
C. Acrosome CIfl. Energy
D. Tail LV, Genetic material

Choose the correct
given below :

_ (1) A-IL, B-1V, C-IL{D-I
2) A-III, B-II, C-I, D-IV
A-1V, B-III, C-I, D-II -

(@) A-IV, B-IIL C-IL,D-1

%swer from the options

<
120 Which of the followihg is an example of a
zygomorphic flower?y .
@ Pea y chiti & fe.
(3) Petunia ) Datura
i ' s
121 Which of following-prganisms cannof fix
nitrogen?

A. Azotobacter B. Oscillatoria
C. Anabaena D. Volvox
E. Nostoc =¥

iy .
Choose the correct answer from the options

given below: o~
1(2) E only
@ D only
u

(1) Bonly
(3) Aonly
Whi.ch one of the fo‘;—l_cgwihg is an example of
ex-situ conservation
Zoos and botanical gardens |
(2) Protected areas
(3) National Park '
@) Wildlife‘Sanctuﬁ

122

N
123 Who is known as thg father of Ecology in

India? =gt
(1) Ram Udar i
(2) Birbal Sahni v

(3) S.R. Kashyap
Ramdeo Misra

[ Contd...

Pathfinder Educational Centre LLP, 47 Kalidas Patitundi Lane, Kalighat, Kolkata-26 & 033-2455 1840 /2454 4817 / 4668



[ Test Booklet Code : 48 |

( Question with Answer Key

124

125

Given below are two statements :

Statement I : In the RNA world, RNA is
considered the fifst genetic material evolved to
carry out essenti#l life processes. RNA acts as
a genetic mateérial and also as a catalyst for
some 1mponanthlochem|cal reactions in living
systems. Being freactive, RNA is unstable.

,Statement II %NA evolved from RNA and
is a more stab;e!genetlc material. Its double
helical strands.being complementary, resist
changes by evolving repairing mechanism.

In the light of the above statements, choose the

most appropriate answer from the options
given below : '

(l) Statement;l*}ls correct but statement II
- is mcorregtq

2) Statement‘ﬁs incorrect but statement 1I
is correct

@ Both state[n;:nt I and statement II

are correct-{ \

(4) Both statement I and statement 11
are incorrect

=g
Given below aféftwo statements :

Statement I : i;;ansfer RNAs and ribosomal
RNA do not illtﬂact with mRNA.

" Statement II : RNA interference (RNAI) takes

place in all eukdryotic organisms as a method
of cellular defenée.

In the light of tﬁeiabove statements, choose the

most appropriate answer from the optlons
given below :

(1) StatementTis correct but Statement 11
is incorree}_,'
Statement{l,js incorrect but Statement 11
is correct lﬁ

(3) Both Statement I and Statement 11
are correct

4
(4) Both Statemient I and Statement II

are incorrect

48 English ]
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126 Match List - T with List - IL
List - L List - 11
A. Heart ,@ I.  Erythropoietin v
B. Kidney{¥) II. Aldosterone
C. Gastro-fhiestinal IIJ. Atrial natriuretic
tract’ i) {s ’factor

D. Adrena] Cortex IV’ Secretm

Choose the cdrrect answer from the options
given belowr‘l ¢ T

" (1) A-l, B-III, C-IV, D-II
@ A-III, B-1, C-IV, D-II |
(3) Al B:l C-11I, D-1V
4) A-1V, B, C-II, D-I

M

127 All llvmg mg‘i}bers of the class Cyclostomata
. are: <p
1) Symbiotﬁ @ éctoparasne
(3) Free livﬁ% OF Endoparasnte
e seflt
128 Streptokinase produced - by bacterium
Streptococcus is used for ' '

(1) Liver disBase treatment

) Removi% clots from blood vessels
(3) Curd bréi‘uction
(4) Ethanol ﬁoduction

129 Role of thig) water vascular system in

EchmodermHs

‘Respiration and Locomotion
Excretion and Locomotion

‘ Capture%nd transport of food
Digestiontand Respiration
Digestif and Excretion

Choose the farrect answer from the option$
given below, !

(I) Band @pnly

(@) B, D argiE Only.

(3) A and B Only
AandConly

e 8 For

22 [ Contd"'
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130 Match.Llst I with List II. 133 Consider the following :
LISt.I List II A. The reductive division for the human
A. Pteridophyte . Salvia female gametogenesisSstarts earlier than
B. Bryophyte Il.  Ginkgo - that of the male gametdgenesis.
C. Angilosperm [Il.  Polytrichum B. The gap between the first meiotic division
D. Gymnosperm IV. Sdlinia and the second meiotic'tivision is much
Choose the option with all cofréct matches. S, shorter for males compared to females.
(1) A-IL B-IV, C-1, D-1I L'§) C. The first polar body is #ésociated with the
2) A-IV,B-IIL CII,D-1 - ¥4 formation of the primaty oocyte.
(3) A-IILB-IV, C-IL, DI 7 D. Luteinizing Hormone (LH) surge leads to
A-1V, B-III, C-I, D-II" disintegration of the enndometrium and
. onset of menstrual bleeding.
131 Which auecbiregt- ' Choose the correct answer from the options
A. Computed -tomography %hd magnetic given below : e
Tesonance' imaging dete""l cancers of (1) Band D are true q@,
internal organs. AN 2) B and C are true m
B. Chemotherapeutics drugsgifie used to kill A and B are true {\ .
non-cancerous cells. 3 A and C are true 1o

. C. o -interferon activate the g? cer patients’ 5§
immune system and he]p'?;,{n destroying | 134 In bryophytes, the gemmaehelp in which one

the tumour. vl of the following? ool
D. Chemotherapeutic drugs’are biological (1) Nutrient absorption gt
response modifiers. - ' (2) Gaseous exchange ‘
E. In the case of leukaemia blood cell counts 3) Sexual reproduction
are decreased. =t Asexual reproduction
Choose the correct answer frQr the options g :
given below: I%e 135 Given below are two statements : one 1S
1) C and D only N : labelled as Assertion (A)z-qnd the other is
A and C only ' s} labelled as Reason (R). {3
B and D only ' s Assertion (A) : The primary, function of the
- Golgi apparatus is to package the materials

(4) D and E only T3] . .
' ' \ ) ) made by the endoplasmic; reticulum and
132 What are the potential drawbaé:ipin adoption " deliver it to intracellular targets and outside the

of the IVF method? cellatic 4
Reason (R) : Vesicles containing materials

A. High fatality risk to mother
B. Expensive instruments and reagents made by the endoplasmic reticulum fuse with
_ C. Husband/wife necessary fotfbeing dopors the cis face of the Golgi apparatus, and they
D. Less adoption of orphans'S! “are modified and released from the trans face
E. Not available in India %' of the Golgi apparatus.
F. Possibility that the early embryo does not In the light of the above statf 'r}Jents, choose the
survive Y correct answer from the op& ns given below :
Choose the correct answer froth the options (1) A is true but R is false.;
W 2) Ais fal i
given below : - \ (2) A is false but R is trug-
i £ \
(1) A, B,C,Donly - Both A and R are true and R is the correct
A9 B, C9 E, F Only explanation OfA
B, D’ F Only (4) BOth A and R are true but R is not the

@ A,C,D, F only correct explanation of A

48_English 23 [ Contd...
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